
PHYS 451: Quantum Mechanics I - Spring 2017
Homework #2, due Tuesday January 31 in class

Wave function, expectation values, stationary states

1. Problem 1.17 in Griffiths.

2. A certain system is in the folowing stationary state:

ψ(x) = A exp(−βx4).

where A and β are some real constants. Find the energy of the state and system’s potential
energy function, V (x). Make a sketch of V (x).

3. Problem 2.2 in Griffiths.

4. A particle moves in a 1D infinite square well (0 ≤ x ≤ a). Its wave function at t = 0 is
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(a) What is the wave function at time t > 0?

(b) What is the average energy at time t = 0 and t > 0?

(c) What is the probability of finding the particle in the left half of the box at t > 0?

Found an error or need a clarification? Email the instructor at sergiy.bubin@nu.edu.kz
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